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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet. |

Candidate will himseif be responsible for filling wrong Roll No.

2. Al the start of the examination, before aitempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that: -

#  The serial numbers of test booklet and O.M.R answer sheet
are same.

*  All pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from 8. No. 1 to last S. No. 100
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question bookist.

In case of any discrepancy/ defect the candidate shou!d
immediately report the matter 1o the invigilator for replacement of
test booklet and O.M.R answer sheet. No claim / objection in this
regard will be entertained after five minutes of start of examination.
Candidate will be liable for it.

3. Answer all questions.

4. Al questions carry equal marks.

5.  Only one answer is 1o be given for each question.

8. If-more than one answers are marked, it would be treated as

© Wrong answer,

-

There is no Negative marking.

8. Each question has four alternative responses marked serially
as (&), (B), (C), (D). Candidate has 1o darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other
~electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.
10. I there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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a

b. Egypt
¢

d

Match List-1 with List-ll and select the

correct answer using the code given below - -

List-1
. Khamsin
. Bora
‘Loo
. Harmattan
List-1I
. West Africa

.. Adriatic Sea

. Northern Plains of India
Code-
(A) 1-(a), 2-(b), 3-(c), 4-(d}
{B) 1-(d), 2-(c}, 3-(b), 4-(a}
(€) 1-(b}, 2-(c), 3-(d), 4-(a)
(D) 1-(c), 2-(a), 3-(b), 4-(d)

-1 H G119 iy @ = iy
T HE BT SUAR PY FE TR BT GIH
BITY — '
A1
1. @i
2.9
3.9
4.
—I1
a. TiREHl SpIeT
b. fr
c. UEes arR

£

T d. ST 9Rg B HeH

Fe- |
(A} 1-(a}, 2-(b), 3-(c), 4-(d}

(8) 1-(d), 2-(c}, 3-(b), 4-(a)

(€} 1-(b}, 2-(c), 3-(d), 4-(a)

D) 1-(c), 2-(a), 3-(b), 4-(d}

“The Peacock Throne” was made during
which Mughal ruler’s reign?

(A} Jahangir (B) Shah Jahan

{C) Akbar (B} Humayun

[ 97Tt WHIE & ARSI § R e

T fmior fean war ar?
(&) srEfiR (B) smewrEt
(C) srepax (D) garg

‘ : s !

3. Which of the foliowing (Place - Rebel

Leader) pairis not correctly matched?
(&) Rohilkhand ~ Khan Bahadur Khan
{B) Allahabad - Liaquat Ali

{C) Jhansi - Lakshmi Bai

(D) Kanpur ~Begum Hazrat Mahal

e & W W (@ - REE =)
I W GAlerT e 87

(A) AT — @ TR G

(B) gemeraTe — farmaa ol

(€) st — werliars

0) FFR — 979 FGRA ATH

“Bamrasia” is a famous folk dance form of
which region? ’

{A) Vagad

(B) Mewar

(C) Shekhawati

(D) Alwar-Bharatpur

TR BN W & B AT ¥
(A) arTS |

(B) ¥ars

(€) TrEmarY

(D) FAR—IRAR

Who has composed the “Rao Jaitsi Ro
Chhand”? ‘

(A} Beethu Suja

{8} Chand ‘Bai’"dai‘

(€} Suryamal Misran

{D} Muhnot Nainsi

T Sl W v @ vafer § —
(&) g3 gor
(B) =g sReTE

(C) wew fHsror
(D) geola SoRd

Which one of the following is the largest
{Area-wise)  agro-climatic  zone  of

Rajasthan?
(M\E@A‘ (B) 1I-B
€} -B- 0j 1-C

frfofea & 9 B @ FR-vemy s
(ETHETTER) TSR § wey g9 87
(&) 117 ' B) 119
©) 14 (D) 1y
World famous “Old Faithful Geyser” is
located in-
(A) New Zealand {B) Iceland
(C) United States (D) Japan
of America

e yfrg eilee werge o e § —
(A) = (B) smgwrdvs ¥
(€) g 5y sReT (D) ST

#

In which event of Tokyo Paralympics -
2021, Avani Lekhara won Gold Medal?

" (&} Discus Throw (B} Javelin Throw

) Sheoﬁng

T WREifieRe—2021 9, o= oy 3 frg

(D) High Jump

et @l ugw Shar ,

(A) T$wp o (B) wren wep

(©) g O ST w7
Which one of the following (Wildlife
Sanctuary - District/Districts) is not

correctly matched?

(A) Bassi - Chittorgarh

(B) Band Baretha - Alwar

(€) Todgarh- Raoli - Pali, Ajmer and
Rajsamand | ’

10. Match List-I with List-ll and select the

11

B O DO

correct answer using the code given below -
List-1 {Lake/Dam)
. Talab-e-Shahi
. Gaib Sagar
. Kadana
. Hemawas
List-1 {District]
i Pali
ii. Banswara
iil. Dholpur
v, Dungarpur
Code-
(A) 1-(1, 2-(i1), 3-(iii), 4-(iv)
(B) 1-(iii), 2-(iv}, 3-(iD), 4-(1)
(C) 1-(ii}, 2-(iii}, 3-(1), 4-(iv)
(D) 1-(iii), 2-(ii}, 3-(iv), 4-{i}

-1 BT G-I e A gor A= g
Y HE BT SR T §Y T TR BT F97
DI —

-1 (3her/ 91)

. CITETE—~T—3TTE

e wrTR

HEToT

Bow N

(&) 1-(), 2-(iD), 3-(iii), 4-(iv)
(B) 1-(iii), 2-(iv), 3-(if), 4-(i)

(©) 1-(i), 2-(iif), 3-(1), 4-(iv)

() 1-(iif), 2-(ii), 3-(iv), 4-(i)

106-B
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(D) Phulwari Ki Nal - Udaipur Which one of the following (Breed -
Livestock] is not correctly matched?

fFrefafaa & & e (geacia svaReg — (A) Barbari - Goat (B} Chanothar - Sheep

et / forel) W gafera =& &7 (C) Lohi - Buffalo (D) Kankrej - Cattle

®) o=f — RrisTe |

R Lo i — - TefoRen & @ S (@R — ugee) oS
- ‘ _\Tﬁ%ﬁﬁ SR

(C) TTevTe Tl — uTeh, T8N 3R ToTaTT T
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12. “Krishak Kalyan Kosh” has been constituted 8. Which Lok Devta is worshipped as “God of
on..... :...iI’l Rajasthan for ‘ease of doing Camels” (Qonton ke Devta)?
farming fpr the farmers. (A) Ramdevji (B) Tejaji
(A) 16t December, 2019 © - 5 S
(B) 16 August, 2018 Devnarayan ji (D) Pabuji
(C) 16t August, 2017 : o
(D) 26t January, 2019 FH W EF Tae B G B A D v
, UG Wi 87
Wﬁﬁﬁﬁ?ﬁgﬁgﬁﬁmﬁﬁw 5 (A) e (B) JoTrsht
PYD  HSUTIT BT ST foam .- : :
S < (©) TR S (D) Tt
(A) 16 fawmx, 2019 &7 1% The depiction of hunting by women is
(B) 16 ar=, 2018 &1 characteristic of which painting style?
(©) 16 srTea, 2017 P (A) Jodhpur Style ~ (B) Mewar Style
(D) 26 w7, 2019 I (€} Kota Stjﬂe (D) Uniara Style
3. “Swasth Dhara Khet Hara” is the tagline of -
(8) Paramparagat Krishi Vikas Yojana TR aRT R —gf,—q—gf g¢ R 'ﬁf)‘ﬂ‘ f%;m
(B) Soil Health Card Scheme e 7 Rroar 27
(C) sub-Mission on Agro-forestry :
’ - A Gﬁi‘q‘g‘\r B) 9gTS .
(D) Pradhan Mantri Krishi Sinchai Yojana ) , ﬁ?ﬁ, \( ) ' ?ﬁﬁ
: ' (C) it dreh (D) SFERT el
T SR T EIOART § Which amongst the following is not an
(A) qRERTTE By R Ao o7 ;
ornament of the neck?
(B) 5T warvey BTE AT BT (&) Timrion -
(©) PR—aFr T FT—fer @ ; Timaniya Amia
4. The 'Damore’ tribe is mostly found at - _ o
(A) Kota and Baran  (B) Bhilwara STECIRETT * ¥ BIar ST el # e v
(C) Dungarpurand (D) Pratapgarh SITT?
Banswara (&) foraforar (B) affaarr
TR SRS fyeay url W & - ©wfeer - O Affrn
(A) Hrer &R IRT - (B) Frorarer § 19. ‘Padma Bhushan Award’ for the year 2020-
(€) YRYR 3R Fiware(d) yargre § 21 in the field of civil service is awarded to -
# (A) Sumitra Maha]an (B) Krishnan Nair
15 “Ratwai” folk dance is r e}gted to - (€) Trilochan Singh (D) Nripendra Misra
(A) Hadoti Region  (B) Mewat Region ‘ '
* D * ) . .
- {C) Malwa Region (D) Mewar Region af 2020-21% e Rifer 9o & & & TeH
IRGCIERES ol I ot i YT REBR YT far a7 § —
(&) Brerh 83 9§ (B) Fara &5 @ (A) =T wETT BT (B) O AR B
(C) wrerar &1 (D) #ars & (©) P Rig @1 (D) g fsm &1
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20. Match List-1 with List-1l and choose the

correct answer using the code given below -
List-I {Book) :

i. Amarakosha

it. Kavya Mimansa

iii, Brihatkatha

iv. Svapnavasavadattam
List-Il (Writer)

a. Bhas

b. Gunadhya

¢. Amarasimha -

d. Rajashekhara

Code- -

(A} i-(c), ii-(d), ili-(b), iv-(a)

(B) i-(d), ii-(a), ifi-(c), iv-(b)

(C) i-(a), 1i-(b), iii-(c), iv-{d)

(B) i-(d}, ii-(a), iii-(b), iv-(c)

?ﬁﬂmlmﬁi‘ﬁwnﬁgﬁﬁaa‘%ﬁmwﬁﬁﬁn
Y HE BT TN HY FE TR BT TIT

(A) i-(c}, ii-(d), ili-(b), iv-(a)
(B) i-(d), ii-(a), iii-(c), iv-(b)
(€) i-(a), ii-(b), iii-(c), iv-(d)
(D) i-(d), ii-(a), iii-(b), iv-(c)
21. ‘Rindhrohi’ is composition by -
(A} Paras Arora (B) Chandra Prakash .
: Deval

23.

24,

What is ‘Pal’?

(A} Bhils’ settlement

(B) Meenas’ settlement

(C) Sahariyas’ settlement
(D) Farming done by tribes

urer {5 FEg 87

(&) et @) g

(B) wiomreyf w1 gl

(C) weRymell @ swil ,

(B) STwTTfeRl ERT & W arel wef

The Institution which was notthe part of the

group that developed 5Gi technology is -

(A} Centre of Excellence in - Wireless
Technology (CEWIT)

(B) 1IT - Bombay

(©) 1IT- Madras

(D) IIT - Hyderabad

R ST 5Gi Ao B [eRig B arer

g o1 fEvar T8t oor —

(A) Jfer offt gorfioRT 391 areer CCMIG'IMI
(CEWAT)

(B) argang A — g

(C) S e & — T

(D) e s A~ BewrEie

‘Ring of Fire’ is located at -

(R} Atlantic Ocean  (B) Pacific Ocean

(C) Indian Ocean (D) Arctic Ocean

AT 3 wrw arafe & —

() sreanfocs (B) vr=r=T FETARR #
HETATR
(©) fore e § (D) e wETEIR

i

© Malchand Tiwari (B) Ar}un Dep Chara 26. Leading Lac prbducing state in India is -
R e o 27 (A) Chhattisgarh (B) West Bengal
(A) URE QTS (B) TeyTer Sqar (C) Madhya Pradesh (D) Jharkhand

C) Arerge ars) b EIEL .

22 ;V; te 2 book ;ﬂ) jfgﬁtp - IRT F FAE A SEs I ¥ —
N 1(;11/2‘2 %e'a) ook entitled ‘Rajpu az\n mé ; P (8) TR gt
(A) Ananda (B) Jai Singh Neeraj (C) mezmmera (D) s

Coomaraswamy 27. The bank of Mahi river is called -
(C) Vachaspati (D) Raikrishan Das (A) Chappan (B) Thali
Gairola : (C) Kanthal (D) Deval
TSI U Wi W 1916 € F b g & T BT FRPIRT TEeTT ¥ —
Foredy? | G | |
(B) 35 IR (B) wraf¥fs Hka (©) =i (D) 2
(©) greafy IRer (D) vHpwe ' :
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28.

29.

30.

31.

32.

Which of the following pairs of major cattle
fairs and their related sites in Rajasthan is
not correctly matched?

(A) Shri Baldev cattle fair - Karauli

{B) Shri Gogamedi cattle fair - Nohar,

Hanumangarh _
{C) Shri Mallinath cattle fair - Tilwara,
Barmer
(D) Shri Chandrabhaga cattle fair -

Jhalrapatan, thalawar

arenferieaT ORI @ W Ug-Hell 9 S
ﬂ@%(&@%ﬂmwgﬂﬁﬁ%ﬁﬁ%?
(&) s geee g Wl — B

(B) =Y TTHST U] HAT — AR, EENTE
(C) =T woal-rT Y] worr — frerarsy, R
(D) 5T TE¥TTT Y] Wl — SITERIITSH, SITEars
The Vindhyan scarplands are part of -

(A) The Southern Aravalli Range

(B} The Northern Aravalli Range

(C) South Eastern Rajasthan Plateau

(D) Mahi Basin

e wR T B § -
() =f&oT sRTee SEer BT

(B) S{) SRI9ed] Fgel Bl

AC) =fErl gl IR R &

(D) w8 IR @7

As on December 2020, the installed power
capacity of Rajasthan is -

(A) 21836 MW. (B) 21148 MW

{C) 20613 MW (D) 19764 MW

R 2020 %, TSR B w; 9a fea
AT E —

(A) 21836 MW (B) 21148 MW

(€) 20613 MW D) 19764 MW
Pashupata Shaiva sect was propounded by -
{(A) Ishan (B) Shankaracharya
(C) Lakulisha (D) Madhvacharya

YT A 39 HER B qgad O —

(A) Som= (B) sigwrard

(C) wrepferer (D) wreaTATd

Which Indian site is included in UNESCO

world heritage list in July, 20217

{(A) Meenakshi . {B) Corbett National
Temple Park

(€} Qutub Minar (B) Ramappa Temple

ARA HT DI A1 ©I e, 2021 H I

33.

34.

35.

36.

37.

(© Varunyan

Rac Rai Singh was called ‘Karna of
Rajputana’ by - '

(A} Munshi Devi Prasad

(B) Gangananda Maithil -

(C} Bithu Suja

(D) Chintamani Bhatt

R IRIE B RIS BT o e Har?
(A) 4=l <dr yaTe

(B) v Hferer

(©) fag wom

(D) Reamfoy wg

Who was the British Political Agent in the
Bharamur state at the time of revolt of
18577

{A) Shawers
(C) Burton

{B} Morrison
{&) Mason

1857 &1 wifa & w9y wRayR Rarad o Jfew
difereae gore B or?

() gt (B) AIRE=
©) sg9 (D) T

Brown Waterfalls are situated in -
(A) Peru {B) Norway

(C) New Zealand {£) Switzerland

ST STeT uuTe HEr R 87

(8) T (B) 1T
(©) =shcivg (D) Recarere

As per the recently released UNESCO 2021
State of the Education Report, the access to
the internet in schools all over India is -

(A) 42% (B) 29%

€) 22% (B 19%

B €1 # ORI BT R, gARp! 2021 We 3%
T w@YE RUE @ orER, gl 9Ra @

fermerdt § sexe @ ugw ¥ ~
(A) 42% (B} 29%
(€©) 22% D) 19%

India’s first manned ocean mission is named
as -
{A) Samudrayan (B} Matsyayan

(D) Vishnuyan

IRT @ TV AFGYER AN ﬁ%‘ﬂ?{ T A
2

¥ g fovraa = 9 el fsar T 87 (A) TsaT (B) e
(A) A=en e (B) wide vy e (C) oo (D) R
(C) g AR (D) 3rar R ‘ |
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a9,

40,

41.

Which is the only continent through which
the Tropic of Cancer, the Eguator and the
Tropic of Capricorn pass?

(A} Eurcpe (B} Asia

(C) Africa (D} North America

HITET TP A ARE B P“Wé‘f HeH NI, T
T AR wHY @ o 87

() 7R (8) wivray

(C) ambianT (D) TRy omiRen

As per the State Budget Speech 2021-22,
Rajasthan Institute of Advanced Learning
will be established as 2 Deemed University
in -

(A) Jaipur, (B} Jodhpur
{C) Kota (D) Ajmer

Y FoIT WIYT 2021-22 ¥, S favaferey
T Y H o TRIRge o TSaiS
AT BT WRITUAT BB I8 B TN B TS?

(A) SragR (B) SRR
(€) sler (D) e

‘Mand’ was the ancient name of -
(A} Pratapgarh (B) Jaisalmer

{C) Karauli {8} Bundi
T U A e -

(R) yaraTg w1 (B) SITeRR &7
(C) e T (D) g BT

Study the following statement and answer
the question given below.

Some friends are sitting on a bench. A is
sitting next to B and C is sitting next to D.
Disnot sittmg with E. E is on the left end of
the bench and C is on second pesition from
right side. A is on the right side of B and to
the right side of E. A and C are sitting

together.

A is sitting between -

(A) Band D (B) Band C
{C)EandD (D} Cand D

frerferea o @7 ufey ok 9 Ry g

42.

(B Only 1V follows

Here, a statement is followed by four
conclusions numbered 1, 1}, Il and 1V. You
have to take the given statements to be true
even if they'seem to be at variance from the
commonly known facts. Read all the
conclusions and then decide which of the
given conclusions logically follow from the
given statements, disregarding cgmmenly
known facts.

. Statements: Some Jokers are man. No man

is cycle.
Conclusions : {1} No joker is cycle.
{II} No man is Joker.
{11i} Some Jokers are cycles.
{IV} Some men are jokers.
(A} Only I and I follow

(€} Only 1, I and IV follow
(D) All follow

TEl, TH FHUT & U 4 ey L1, HTd

WY &1 ey fov T weET @ ey green

g wel B 9w s aeaf | e et e

frepsl @7 ugee ol @ &5 Ry g

el & W B W /e ¥ alde w9

U woAl BT SO0 FW 8, AER G

Feat @ el HY §U |

FUF : B THER GO ¥ | P @ 7o,

grsfeper w8T &

Frepd 0 (1) o8 N TowN, 9 g 2
(1) &g A 7oy, FEeRT 78 ¥
(1) BB TEER, wEfee ¥
(IV) T 739, A9ER ¥

(A) Fraer 1 T 11 SF[EReT B B |

(B) Bl IV TRV &RaT ¥ |

(€) Baat 11T IV FER B & |

(D) T SR R T |

U9 BT TR QINTT | 43. Find out the wrong term in the fellowmg 4
%W@W%%SAB?W@%T% number series -

ﬁvﬁc,g%m %a;;,ﬁ?ﬁ e ga}gg 325,259,202, 160, 127, 105, 94
E RiEd HIR 'q"\’ (&) 259 (B) 202
mﬁgﬂé‘e%\%sﬁ?E aﬁ‘faﬁ*\f%m@mf@ ’ .
R §T B o S . _
A 3 o & ﬁﬁmmﬁmmmw
(A) B3R D& (B RaiR C ?2:)" 259,202, 160, 12 105,94
(€) EslR DD D) CARD D (A) 259 (8 202

{€) 160 {0y 127
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44. Following question is based on the
information pmdeed below - '
(1) ‘A x B’ means
(y‘A-B méa@vs“ﬂ;A is brother of B
(I11) ‘A + B means ‘A is sister of B,
(IV) ‘A + B’ me: A is father of B.
How is K relatedto MinR + M -K?

is mother of B’

(A) Son (B). Daughter

(C) Nephew (D) K is either brother
or sister of M

ot e ST T8 T o) SRR € -

(1) ‘A x B’ T T A, B et 24

(1) ‘A - B’ T ST A, Bt 9 ¥1

(L) ‘A + B 7 SIfura A, BT 9891 ¥
(IV) ‘A+ B’ o1 aifmra A, B fer ¥
R+M-K # K MY 59 yvar i 87
R:CH Gk

(©) Wi (D) K, M &1 989 s

g ¥

45. (Count the numbér of triangles in the figure

below:

(8) 15
Oy 17

46.

47.

48.

I

In the fdilawing figure, the number in place

of question mark sign will be -

g 12
3/ 21 27\%
10\27 |218/ ¢
() 64 {(B) 125
© 216 - (D) 27

o R ¥ WW%‘%WW&W
gTel s BT —

. g1 2
‘ 3 ? 27 5
C\ao\27|218/ ¢
\\é 12
(A) 64 (B) 125
- {€) 216 . Dy 27

Here, some of the letters are missing which
are given in that order as one of the
alternatives below it. Choose the correct
alternative — '

. W _VIWWX_ Yy _IWW _XXX YV _ZZ

(A) yyxwyz (B) yyzwyx

(C) xzxyww D) xxzwyz

R % e B R uEt %l GE ﬁw &1
A HRY —

W _VIWWX _VY _ZWW _XXX _ VY _ZZ

(A) yyxwyz (B) yyzwyx

(©) xzxyww (D) xxzwyz

A cube of side 10 cm is coloured red with a
2 cm wide green strip along all the sides on

" all the faces. The cube is cut into 125 smaller

cubes of equal sizes. How many cubes have
stleast one face coloured?

(R) 89 (B) 98

€ 76 , &) 102

) et @ el oTet IR 2 A ‘rﬁ@rsﬁr
uedl & WRI 10 WH. Y 9l Th G B
mm@wwé;ﬁmﬁmm
125 B wat ¥ wrer T ¥ B A o

| up i g8 waE arer fa v 87
A B
(M) 13 (B) 15 (A) 89.- _ (B)9s8
©) 16 : (D) 17 €) 76 (D) 102
106-B @ Pagesaf ‘fﬁ

43. If in a certain code language, DAN = 357, 53. A bag contains coins of ¥ 1, 50 paise and
SON = 458, LOTS = 1248; LOAN = 1345; 25 paise in the ratio of 2:3:5. If the total
SCOTLAND = 12345678, then code of “C" is value of these coins is ¥ 228, then the
egual to - number of 50 paise coins in that bag is-
(A)g , (B 5 (&) 240 (B) 144
€6 o) 7 (€} 96 (D) 48
we fifteq @me ww % DAN = 35 v I A 1%, 50 99 3R 25 & Ry

_ _ 2:3:5 & srgura ¥ &1 AR 37 Ryapl &1 F
SON = 458, LOTS = 1248; LOAN = 1345 72 N ¥ 5009 B Ftﬁ;?ﬁ

 SCOTLAND = 12345678, a1 “C" 1 % TR qed 228X &, 71 SH S0T/ @ R
. BT T - ~
. A B

@ 4 @ (c} 240 (D) 144
© & D) 7 €) 96 (D) 48
' X 54. The pair of straight li —dxy+yi=0

50. Inacertain code language, “123” means “hot e pair of straight lines x* xy Y
! o e o N together withthe linex +y + 46 () form
filtered coffee”, “356” means “very hot day a triangle which is -
a?df >89 means day and night”. Whic (A) right angled but(B) right isosceles
digit means “very”? not isosceles
W3 B 5 (€) scalene (D) equilateral
e D g - .

‘ ‘ el el B g k% —4xy +y? = 0 X@r
v e e W 123" @1 e x+y+4/6=0 @ e Fews v By
“hot filtered coffee”, “356” & HacH T E S R —
“very hot day’ SR “589" @ W (A) TRl &ifeh (B) WOy wafgarg
“day and night” & | & ¥ 3fF HT ?ﬁﬁ “Yery wHAfgEg T8
&7 (C) Ry (D) T
(A‘; 3 » - Bs5 3| 55 The Harmonic Mean (H.M.) of the roots of
© 6 )9 A the equation (5+ \/—)X - (4 + \f_)x +

51. The difference of 65% and 35% of the same__ (8 +25) =0 is-
number is 22.20, then 50% of that number y (&) 2 (B) 4
is- L © s ™ g
(A) 37 (8) 74 ~
©) 65 (D) 32.5 TR (S +V2)x2 - (4 + VE)x +

, _ . 8+2v5) =0 & W& & eHD dEY &
ferely <iear & 65% vd S WA & 35% §(A)z ) I‘L(BM
3R 22,20 %&\5 a7 T HE&gT BT 50% B— ©s D) g

W 37 ®) 74 56. On throwing two dice, the probability that

: (©) 65 - @325 sum of the numbers on the faces is 7 or 11,

52. The number of terms in the expansion of is -

[(x—3y)%(x + 3y)? ] is- (A) - (B) 2
(8) 7 ®) 6 f 7
() 14 ®) g © 5% ®) 5%

[(x—3y)2(x+ 3y)2 ) & fvaR & sl & jﬁmj%m ng:ﬁa%amaﬁraﬁ7m11
drt AR
) 7 B g ®)3
©) 14 (D) 8 L : Z
© % @) 3

1@6“3 @ Page 9 of 16



57. The number of ways of arrangements of 82. Rajasthan Foundation Day is celebrated on -
10 persons in four chairs is - {A) 03rd March {B) 23rd March
(A} 4050 (B) 5020 (€) 30% March (D) 315t March
{€) 5040 ) 6000 ’
10 fEEt BT 4 FRET | A TR ¥ ' zxﬂwﬁ S HREEES ngm I ® —
araRera (Sea) W1 wwar §? {(A) 03 77F (B} 23 #ref
(8) 4050 (B) 5020 {C) 30 5/ (D) 31919
(C) 5040 (D) 6000 63. How many members are there in District
58. A metal sphere of 8 cm radius is melted and Planning Committee in Rajasthan?
small balls of radius 0.5 cm are being made {Ay 25 {8) 30 ’
* from it. The number of small balls are - ©) 35 (D) 40
(B} 1728 (B) 4096
(€} 3375 - (D) 2744 T Ryen e wffa W e
8 A, Frowr 4181 T oI & e FY Rereran R B E
ST R o W T 05 A Prem @ 8 25 (8) 30
mfert a9E Sl €, 7 Mol o Hear g - (€) 35 (D) 40 v
(A) 1728 (B) 4096 64. When did Ajmer become a Sixth Division of
(C) 3375 (B) 2744 Rajasthan?
50, Ifb+ % =1anda+ % =1,thenabc=7? (A) 1987 B} 1977
B) 4 (B 2 {C) 1982 D) 19591
©) -1 ‘ (D} Cannot be _
" determined ISTHR ISR BT 63T TUNT 6 gA77
(A) 1987 (8) 1977
m%b+~mlﬁma+~—1§PﬁaM"7 (€) 1982 (D) 1991
(A) 4 QB) 2 65. Who among the following was not an
©-1 (D) e & BN 355(}1 incumbent of the Chairman of State Womien
60. 1If a regular hexagon and an equilateral Commission?. ‘
triangle has equal perimeter, then the ratio (A} Xanta Kathuria  (B) Tara Bhandari
0§ areas naf regular hexagon and equilateral (C) Lad Kumari Jain (D) Girija Vyas
triangle is - _
waes (Byz:3 TS AR AT B ST U W B AR
(€) 3:2 (D) 5:4 T8 we
ofy ve wIYeW Wk TS e e & () wper By (B) TRT WoBRI
afATT WA B, O aYeyS 3 wHerg By (©) are TaRy o7 (D) FiRer s
Ei’i&’ﬂ:bf’” FregEE e = 86. Who is the head of the District Disaster
?ﬁz 8:5 (g} 23 Management Authority?
e o 3_:.2_ ' i_ ) 5:4 (A) Commissioner Municipal Corporation
61. Provision of appointment of State (B) CEO (Zila Parishad)
Governors by the centre, has been taken ) Tyicrr
from - : (C) District Collector
(A) Canada (B) Ireland (D) Superintendent of police
(€} Switzerland (D} United States of
: America FSTEIT SITUET Tae UTEIehROT BT Tehe] Eﬁ\ﬂ BT
27
AR F I B D ERT [GRIESECH (A) amga TR B
T T 1S * <. Rrem aRwe)
€M HATST o (B) RIS
. o ©) fSrem Hoge.
(€) Recoxars ¥ (D) 9Yad 59 JHRD] ,
(D) gferey seiers
Page 10 of 16

67. Match list - I with list - Il and identify the

correct answer from the code given below -

List-1
{a) Mont-Ford Report
{b} Motilal Nehru Report
{c) J.V.P. Committee
{d) Morley - Minto Reform
(i) 1928 -
(ii) 1919
(i) 1948
(iv) 1909
Code -

(&) a-(ii), b-(i), c-(iii), d-(iv)
(B) a-(iv), b-(iil), c-(1), d-(ii)
(€} a-(iv), b-(i), c-(iii), d-(i1)
(DY a-(iv}, b-{iii), c-(ii}, d-(i)

-1 o1 G- fem FIR ok A9 &y
R e H W WE SR BT T B -
AR -~ 1
(a) Aie~-w1E Rurd
(b) Aderer Jge R
(c) o afafy
(d) Hrei—fieT QurR
-1
() 1928
(i) 1919
(i) 1948
(iv) 1909
FT —
(A} a-(ii), b-{D), c-(iif), d-(iv)
(B) a-(iv), b-(iif), c-(i), d-(ii)
(€} a-(iv), b-(i), c-(iii), d-(ii)
(D) a-(iv), b-(iii), c-(ii), d-(i)

68,

69.

70.

1.

Which of the following is incorrect

statement? ;

(A) Advocate General for the state is
appointed by Chief Justice of High Court. .

(B} It shall be the duty of the Advocate
General to give advice to the
Government of the state on legal
matters.

(C) The Advocate General shall hold office
during the pleasure of the Governor.

(D) Remuneration of the Advocate General is
determined by the Governor.

foret § ¥ PF W FUF T 27

() <150 @& wEIREEar o Ffia Se =
& H RER §RT P G |

(B) weifdgae 1 U8 Fas B8R fF 98 I
WRBR B Afdes Arest § gars 9 '

(C) weIfdgeaT TSUUTd B URIEUAd  UGEROT
T |

(D) merfdgear &1 aIRsIfe. Tsgura gRI
fauifRea fvar Sirer 21

How many seats are reserved for Scheduled

Tribes in Rajasthan Legislative Assembly?

(A) 22 (B) 24

(€) 28 (D) 33

e fuE W # e ug SR
A B el 87

(&) 22 , (8) 24

(C) 28 (0 33

Under which article of the Indian
Constitution the Chief Minister is appointed
in Rajasthan? -
(A) Article 60

{C) Article 270

IR A ® 5w egwe & asd
v # g o e Bk 87

(R) s g=E 60 (B) argzog 164

(C) arg=ee 270 (D) argeeE 350
Which of the following internet service is
appropriate to access the computer of your
office from home?

(A) Telnet (B) FTP

(€) IRC : Dy Www

= ¥ 9 e @) s 99, s e
T FEYER B R G Ud (TRT) B B

{B) Article 164
(D) Article 350

forg Sugem 87
(A) Temre (B) g 211
(C) 377E IR, (D) Ty T T,

106-B &
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72. wWhich of the following is used in main

memory?
{A) SRAM (B} DRAM
(€} PRAM - (D) DDR

freg ¥ 9 e gE A wan A e

27 ‘

(A) SRAM (B) DRAM

(C) PRAM (D) DDR

73, Consider Column - 1 and Column - 2 in

context ef computer generations -
Column -1

{1} Transistors

{2} VLSI

{3) Machine language

(4) PARAM
Colummn -2

{a) Fourth generation

{b) Fifth generation

{c) Second generation

(d) First generation

Match of column - 1 and column - 2 is -

{A) 1-(c), 2-(a), 3-(d), 4-(b)

(B) 1-(b), 2-(d), 3-(a), 4-(¢)

(€} 1-(d), 2-(b), 3-(c), 4-(a)

0} 1-(c), 2-(d}, 3-(b), 4-(a)

e @ ARl & wed W owe - 1 qen
T - 2 O R e —
TR - 4
(1) gifdrex
(2) AT TR,
(3) el <o
(4) TRH
R -2
ka) ?fféﬁ Tﬁ@
(b) wrardy o
(c) gy drdy
(d) gl Ure
T - 1 el W - 2 BT A © —
(8) 1-(c), 2-(a), 3-(d), 4-(b)
{B) 1-(b), 2-(d), 3-(a), 4-(c}
(€) 1-(d), 2-(b), 3-(c), 4-(a)
) 1-(¢c), 2-(d}, 3-(b), 4-{a)

74 Intespreter is used as a translator for -
(A) Low leve 1 (B) High level
language language

(€) COBOL (D) C++

fpare forg geewiier givee” B TRE vaT A

ST ST 87 4 A
B o Saer S (B) =1 erge S
(C) COBOL © (D) G+

In MS PowerPoint, key used to run the Slide
Show from the beginning is -

(A) Shift + F5 (B) F7

©) F11 (D) F5

THOE. TR tfge 3 wgs o BT gHend I

(A) Shift + F5 (B) F7
(€) F11 (D) F5

. Who built the world’s first electronic

caif:ulé‘tor using telephone relays, light

g bulbs and batteries?
' (A) George Stibits (B) Konard Zuse

- {C) Cléude Shannon (D) Howard H. Aliken

77. In context of MS Word - 2019, consider
fo}lowinv statements ~
: By pressing Ctrl + N, you can create a new
document.

78. Consider the following ordered sequence of

T dwE Rel, wige 9o SR SIS BT YA

e g fIed &1 g Qk%cr;;”iﬁcb PodeIey
- fres gemnT?
A) Gt Refewr (B) B 5@

(D) gfa€ vl e

CESSERE

Page 12 0f 16

Pty
o, |

I : The template provides the formats that
give a docum{}:;ﬁ its appearance.

Which of the aboﬁ% statement is/are true?

{A) Only 1 (B} Only I1

{C) BothTand II (D) Neither Inor 1]

TH.QH. a:%——m:wa%ra#ﬁ fore ot TR

foraw a3 |

I.Ftrnwa‘érmsmwmﬂaﬁqﬁew
|Hd T , :

11: Tree § Bie 31 8, O TP Siaghe Bl
SUGHT WET TET HIT B

STIGT FeHl d q P A/ PE 9 mx

g/87
(A) Bae | (B) waaT lI
(©) 1 o 1TemT (D) 71 <11 &R 1 €1 1L,

actions in MS Excel -

{a) Select cell range A1: E10

{b) Press 100 on keyboard

{c] Press ‘Ctrl + Enter’

Choose the true statement, after above

actions -

(A) 100 is entered in each cell of the range. ‘;‘%:.y

(B) 100, 101, 102,....150 entered in cells of *
- the range.

(C) 100 is entered in cell A1 only.

(D) 100 is entered in cell A1 and cell E10.

A, YeRie § e Rrarel @ mita e
W™ R Gy —
(a) W1 NSTAL: E10 &7 TU o
(b) FI—arE 9= 100 TITY
(¢} ‘Ctr] + Enter’ §91¢
g fHael & SuRE ?Té“r AT HT G
Y
(A) 351 31 g% [ H 100 vl g
(B) 31 &1 Jalf & 100, 101, 102,....150 yfe

- ger| ' ,
(©) 100 B e AL H Tl gar | !
(D) 100, 91T A1l @ ¥ E10W vl gam|

79,

0.

IEEE -~ 1394 is- -
{A) Fire Wire {B) USB Port

{C) Serial Port (D) Parallel Port

IEEE - 13948 —
(A) BER IRR (8) ggadl urd
) SRy o (D) Rerer ure

Which of the following statelment is false?

(A) A bar-code reader uses laser-beam
scanning technology.

(B) Bar-codes are printed using special ink

containing iron oxide.

() On goods, postal packages, books etc. we

use bar-code for unique identification.
(D) Bar-codes represents data  using

combination of vertical lines.

ﬁmﬁﬁaﬁ‘mwmwm%‘?‘

(B) T IR BT ISR ToR—I THET THAE

T TN BT 21

(B) YR Hre UH A9y WE & AN ¥ BN

ST €, R amRe sifess g ¥

(©) 5, so-Uaa, fFad enfy W Ew
sfgi uga & oY IR ®is &1 AT
B E |

(D) IR Bre WS V@R B TIATH I BIET BI

fFrafta seer 8

106-B &
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81. Match the idioms in Column (A) with their 85. “Thelion is a fierce wild animal”

meanings listed in Column (B} - In this sentence (the underlined words) ‘The

Column - (A) Idioms lion’ stands for -
(a) Ared-letter day (;) thg whelfa class of lions
(b} Tosmellarat (B) a single lion
> {C) a particular lion
{t] Toleave no stone unturned . .

(D) a lion formally discussed
{d} To turn over a new leaf 86. Fill in the blank s i the gi t
. : cesin v

Column - (B) Meanings selecting appropfizte set ofevirzz ?:éln: ij}f:
(i} to suspect something wrong following options ~ :
{ii} to make‘ev_ery possible effort Sentence: Contrary to popular ............ that
{iii} to make a fresh start money is power, I ... that knowledge is

- {iv) A special/ noteworthy/ memorable power. .

occasion (g) be}%ef, beliéve (B) believe, belief
(A) a-(iil), b-(iv), c-(i), d-(if) (C) beliefs, believes (D) believes, beliefs
(B) a-(if), b-(iil), c-(iv), d-(i) 87. Change the voice of the following and

Ly choose the correct option - ,

(€) a-(iv), b-(i}, c-(ii), d-(iii) There is no charge to make against him.
(D) a-(ii), b-(iii), c-(i), d-(iv) (Change into Passive Voice)

82. Choose the correct meaning of the idiom - (A) There is no charge made against to him.
‘Feeling under the weather’ means (B) g‘here is no charge to be made against
(A) rejuvenat (B).refreshed m '

] ) ¢ reireshe (C) There is no Charge to have made against
(€} to feel ill (D) bad weather him. .

83. Fill in the blank with the most appropriate (2) There was no charge to be made against

phrasal verb - him.

Raja Ram Mohan Roy urged Indians 88. Choose the correct option :

1 S (do) untouchability. Do you know when she will go home?’ I said

(A) do away with (B) do without to him. (Change into indirect speech) i
{A) I asked him that did he know when she

(€) do upon (D) do at would go home

84. Match the words listed in Column (A} with (B) 1 asked him if he knew when she would
their synonyms in Column (B) - go home.

Column - (A} Words (C) T asked him if he know when she would
(a) Access go home. v
~ (b) Retrieve (D) I asked him if he knew when she will go
—{c) Ameliorate home.
(d) Alter 88. Complete the sentence selecting the correct
S preposition from the given options ~
Column - {B] Svnonyms “p . : : - ;
new bridge is being built ... the river
(i) Improve Niger.”
(if) Change (4) in . ®at
(iii) Approach. ©) during (®) on
(iv) Restore 90. Fill in the blank space in the sentence
(A) a-(iii), b-(iv), c- (1) d-(ii) choosing the right alternative from the given
(B) a-(ii), b-(i), c-(iv), d-(iii) SpthnS - _
(©) ax(i), b-(iii), c-(iv),d-(7) A kangaroo can ]ump .......... a rabbit.”
P Co T (A) highest than (B) higher than
(D) a-(iv), b-(ii), (i), d-(i) . (C) higher to (D) highest to
106-B & Page 14 of 16

9. 5w faemey § qoaE ek TG §Y '%? 6. areva fawe B 9UT PG —
(A) a8, e (A) R or T AT § — wae
(B) w1, T
(B) wdar o1 e far Wi — SusgST
(€) 7Teh, UFFR
(D) T, WS (©) Pier & FBM I BRAT — TR
92. wfr @ g § srgAferm fawer. &1 wT (D) wereT & T PR R — AT
_ N i |
97. frw fwer ¥ Ram gw 8 ~
)y + R = WAl
(B) @y + g=&T = altgwoT (A) TERTH — AONTEA
(©) ey + TRy = TeYaNE (B) wgor — freer
(m_m + SUFHR = wgw;g | (©) gt — e
93. freffan @1 & gE”l @ -l A
e aef & Ay gafT g - @) Afersd — sgied
i L B 98. fer ¥ ¥ fba ey & wf v gg &7
) R o %ﬁ?ﬁ (A) ST, ARETE, TET
(i) =Ter—Ta # erEE
(iif) OR BT TS B AT (B) TVeefer, T, gfoom
(iv)Tre &7 & (C) wrefrqyor, Srafa, Sl
-1
D) PRz, wzﬁqféf TEATH
(@) o= waee g@e o , ®)
(@) fos & & 7 M arern gg-ﬁmﬁf@ﬁwrﬁwaﬁﬁﬁ W%ﬂ
(1) G < W AR @ SR 57
(@) &9 T . -
(8) (i)- (), (- (<0, Gii)- (), (iv)- () () T,
B) (- (), (i)- (=, (iii)- (71, (iv)- (%) (B) T, et
@ - (M, ({i)- (=), (iiD)- (%), (iv)- (¥) (€) Breem, B
@ @- FT)-, {ii}; (=), (iii)- (=0, (iv)- (W) ' R |
84. ‘e R-SIENY TSI TE—gH BT Ael |
g — ‘ 100. guert @ AT vl & W § Bl ey
(A) FrreR, fava | 87 4
(B TS, W S R (&) 7 — TRy, witree, g
(C) »Ud, DR Y '
(D) eueh, U TH R (B) a1 — eneifa, anifire, smwfE
95. for fied § W W ReR qatgard ¥ — (©) fr— Frome, fee, e
(A) iear, TSt RIS, et (D) 3y — o, e, gy
(B) M9, AR, T, PUMER ,.
(C) eFioTa, TR, BRI, TSI
(0) R, e, games, 9oy
106-B Page 15 of 16




